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S —>if EthenSelseS

S— begin SL _JL».Q
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enum token {IF, THEN, ELSE, BEGIN, END, PRINT, SEMI, NUM, EQ};
extern enum token getToken (void) ;

S'— if E then S else S

enum token tok;

S-+>begH1SIJ void advance () {tok=getToken() ;}
void eat (enum token t) {if (tok==t) advance(); else error();}
S — print E
void S(void) {switch(tok) {
L — end case IF: eat (IF); E(); eat (THEN); S();
L—-SL eat (ELSE); S(); break;
! case BEGIN: eat (BEGIN); S(); L(); break;
E - num = num case PRINT: eat (PRINT); E(); break;
default: error () ;

})

void L(void) {switch(tok) {

case END: eat (END) ; break;
case SEMI: eat(SEMI); S(); L(); break;
default: error () ;

H)

void E(void) { eat(NUM); eat (EQ); eat (NUM); }
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void S(void) { )+ eat (EOF)

void E(void) {5w1tch (tok) {
case ?: E(); eat (PLUS); T(); break;
case ?: E(); eat (MINUS); T(); break;
case ?: T(); break;
default: error() ;
}}

void T (void) {switch (tok) {
case ?: T(); eat (TIMES); F(); break;
case ?: T(); eat (DIV); F(); break;
case ?: F(); break;
default: error() ;

H

3, 0,8 I 1, aw plaS oSl gl 2l B ol



void S (void) ) ; eat( EOF
void E (void) {sw1tch (tok)
case ?: E(); eat(PLUS) T(); break;
S — E$ case ?: E(); eat (MINUS); T(); break;
case ?: T(); break;
default: error () ;
E - E +T 8!
void T(void) {switch (tok) {
l; —d l; 71 case ?: T(); eat (TIMES); F(); break;
case ?: T(); eat(DIV); F(); break;
l; N 7‘ case ?: F(); break;
default: error () ;
T >T «F '
T -T/F
T - F
F —-id
F - num
F - (E)
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First(X)
First(x) = {'x" } 5,0 L)l B ,> x 51 -)
5l dcgamme 43 € 0938 o5 1 g5 el 95> X = € S1-Y

wWdgaclgd 9> X > YV, Y, Y, Y, S1-¥
First(X) = First(Y,) -
First(X) = {First(Y,)-€} U {First(Y,) } .5,1.€ € First(Y,) 5l-o
First(Y; 1) € First(X) o1 € € First(Yy) it gl 51¢
€ € First(X) «5,1€ € First(Yi) sl asloi = 1:1n 5 Y, ol gl a S1-0



Jle = slel acgomme (280

E—->TEFE First(E) = First(T) = {(,id}
E'—» + TE |e First(E") = { +, €}

T >FT 5l slaas goxae First(T) = First(F) = {(,id}

T'—>* FT |e First(T") = {* €}

F-(E)|id First(F) = {(,id}

S — ACB|Cbb|Ba First(S) = First(A4) U First(B) U First(C) = {d, g, h, €, b, a}

A - da|BC ] First(A) = {d} U First(B) ={d, g} U First(C) ={d, g, h, €}
First(B) = {g,€}

B — gle - _
Cohle First(C) = {h, €}
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Follow(X)
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Follow(S) = {$}$ g508 i g -

Follow(B) = First(n) — {€ } s5,] .A > mBn 5-v
2wl Follow(A) sl,)s Follow(B) +5.1.A > mB 5I-¥

5,1 € € First(n) A - mBn 51-¥
Follow(A) U {First(n) —e} sl Follow(B) -
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E—->TEFE First(E) = First(T) = {(,id}
EE—> + TE'|e First(E') = { +, ¢}

T SFET First(T) = First(F) = {(,id}
T"->x* FT |e Fl:TSt(T') = {*:_E}

F o (E)|id First(F) = {(,id}

Follow(E) = {$,)}
L Follow(E") = Follow(E) = {$,)}

Follow(T) = {First(E') — €} U Follow(E"') U Follow(E) = {+,$,)}
Follow(T") = Follow(T) = {+,$,)}
Follow(F) = {First(T') — €} U Follow(T") U Follow(T) = {*,+,$,)}



JUo = 9,0 dcgemme (8L

S — ACB|Cbb|Ba First(S) = First(A4) U First(B) U First(C) = {d, g, h, €, b, a}
A = da|BC _ First(A) = {d} U First(B) = {d, g} U First(C) = {d, g, h, €}
B gle First(B) = {g, €}
Coh|e First(C) = {h, €}

Follow(S) = {$}

Follow(A) = {First(C) — €} U {First(B) — €} U Follow(S) = {h, g,$}
Follow(B) = Follow(s) U {a} U {First(c) — €} U Follow(A4) = {$,a, h, g}
Follow(C) = {First(B) — €} U Follow(S) U {b} U Follow(A) = {g,$,b, h}
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